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C6-265-D5 100 µm x 100 µm
Mass sweeps not averaged

Age = 66.1± 13.1 / 13.3 Ma (n=30)
(207Pb/206Pb)c= 0.748± 0.026
MSWD = 1.6, p(χ2) = 0.03

Age = 137.6± 21.2 / 21.7 Ma (n=36)
Upper intercept = 4849.0± 45.0 Ma
MSWD = 1.6, p(χ2) = 0.00

C6-265-D5 100 µm x 100 µm
Mass sweeps not averaged
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Age = 113.7± 6.9 / 8.0 Ma (n=30)
(207Pb/206Pb)c= 0.782± 0.017
MSWD = 1.4, p(χ2) = 0.06

C6-265-D5 100 µm x 100 µm
Number of averaged mass sweeps = 4

207Pb/235U

Age = 108.6± 17.4 / 17.8 Ma (n=36)
Upper intercept = 4833.0± 50.0 Ma
MSWD = 2.6, p(χ2) = 0.00

C6-265-D5 100 µm x 100 µm
Number of averaged mass sweeps = 4
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